Ok H 7}
o8 =6 1
F AT A, B ol diste] n(4) = 12, n(AUB) = ohe & 3ol obd A BT 121 (

16, n(ANB) =54 o, n(B) 9 #2?

[l 2, 35|

®6 @7 08 @9 oW
S5

n(AUB) =n(A) +n(B) —n(ANB)

n(B) = n(AUB) —n(A)+n(ANB) = 16— 12+
5=9

n(B) =9

A A= {k|k <12, ki 39 v }—g—% BEL:

o= YEfH? EEER
O A=1{3,6}
@ A=1{3,6,9}

@) 4= {3,6,9,12)

@ A={3,6,9,10,12}

® A=1{3,6,9,10,11}

A% A B

daudioz dehi| 4 =
{3,6,9,12} o]t}

(@){x|x<1 = 2ds
@ {z |z 52 UFUE of U7} 30 A

T}

® {z|z<2 v 25}

@)z | o= 19

N =Z O
ok F 25}

® {z|z¥E25HTt Z 259 v}

~&B

}

® {1}

@ {3, 8, 13, --
®o

@ {1}

® {50, 75, 100, --

}




4.

n(U)=20,n(B—A)="7n(B) = =
o, The W cheloj Ta1e) AT FES ek 4
gtel o] A48 Fatel,

U

B

M3 3, M ]

n(B) = 9,n
ojr.
n(A¢) = 6 °|BZ n(A) =
20 — 6 = 14 o|t}.

kA n (A — B) = n(A)
12 o]t}

(B—A)=70°|22 n(ANB) =2

n(U) —n(A°) =

—-n(ANB)=14-2=

T AT A = {1,3,5,7,9},B = {5,8,9} ol tis}

(A—B)U(B—A) =7 (14 3, SH ]
@ {1,3} @ {1,3,5}
® {1,3,7} @ {1,3,5,8}

®11,3,7,8)

(A-B)U (B—A) = (AUB) — (ANB) =
{1,3,5,7,8,9} — {5,9} = {1,3,7,8} °o|th

7.

10 w|gte] &0 Hots A g & o, th2 F 59
AL BT Tkt
H7]
G 10eA ©5¢A ®2¢c4
@ 12¢ A © 8¢ A

o o o of

\VARVAR 2B 4
ox o

[HH3d 3, SH ]

910¢ A,
@8c4

A AE A = {zfze 10 05k &5}
LB = {ekmoder) 0 =
{elee 10T 2F2 2Ad4=} Abo] o] ZAFAE

155 AHgstel e A

Aos §& AL Betek
[H

® AcBcC ® AcCcB
®)BCcAcCC @ AcB=C
® BcA=C

A=1{1,3,57,9}
B=1{1,3,9}
C=1{1,2,3,4,5,6,7,8,9}
. BCcAcCC




shge] 26 7, rebatat

E =
Adopite] BE 7F 2 shfo] 8 1, ghepitat Aofite]
W 7F H2] ot ool 5 W i, defite] 7 &
MY =5 Fstofet [ 4, B5 ]
> =
> " 21y

n(U) = 50,n(4) = 26n(ANB) =
8,n(AUB)‘ =5 o]t}

n(AUB) =n(U)—n((AUB)®) =50 —5 =45
olc},

n(B) =n(AUB) —n(A)+n(ANB) = 45 —
26 + 8 = 27 o]},

A

o

2
6

oo
rlo
Mo

3 ? [HH 4, 5% ]

@ {zlze &5} C {22 &5}

@ {z]z= s8R 22 AA5} C {1, 2, 3}
® {z]z=259] ¥i5} C {100, 200, 300}
@) {wlz= 391 W4} S {afats 90 w15}

® {zla= &5} c{1, 3,5, 7}

@ {3,6,9,12,15,18---} > {9,18,27,36 - - - }




